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QUESTION 1

Referring to the exhibit, which OSPFv3 configuration is implemented on router R1? 

A. set protocols ospf3 area 0.0.0.0 interface ge-0/0/0.0 set protocols ospf3 area 0.0.0.1 interface ge-0/0/1.0 set
protocols ospf3 area 0.0.0.1 interface ge-0/0/0.0 

B. set protocols ospf3 area 0.0.0.0 interface ge-0/0/0.0 set protocols ospf3 area 0.0.0.1 interface ge-0/0/1.0 set
protocols ospf3 area 0.0.0.1 virtual-link neighbor-id 172.16.1.2 

C. set protocols ospf3 area 0.0.0.0 interface ge-0/0/0.0 set protocols ospf3 area 0.0.0.1 interface ge-0/0/1.0 set
protocols ospf3 area 0.0.0.1 interface ge-0/0/0.0 secondary 

D. set protocols ospf3 area 0.0.0.0 interface ge-0/0/0.0 set protocols ospf3 area 0.0.0.1 interface ge-0/0/1.0 set
protocols ospf3 area 0.0.0.1 interface ge-0/0/0.0 interface-type p2p 

Correct Answer: D 

 

QUESTION 2
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Traffic is being sent from R2 to R3. The link between R2 and R3 fails. Referring to the exhibit, which statement is
correct? 

A. Traffic will automatically reroute using the shortest path, which is R2 to R1 to R3. 

B. Traffic will automatically reroute distributed between all available paths. 

C. Manual intervention is required for traffic to be rerouted. 

D. Traffic will automatically reroute using R2 to R4 to R1 to R3. 

Correct Answer: D 

 

QUESTION 3
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Referring to the exhibit, there is a Layer 3 VPN setup that connects sites CE-A-1, CE-A-2, and CE-A-3 together. Host-1
can communicate with Host-3, but Host-1 cannot communicate with Host-2. 

What must you do to solve the problem? 

A. Change the route distinguisher in both routing instances to the same value. 

B. Use the next-table configuration statement for static routes in the corresponding routing instances. 

C. Use BGP instead of static routing between the CE and PE devices. 

D. Use the auto-export command in both routing instances. 

Correct Answer: D 

 

QUESTION 4
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You are receiving the same 200.0.0.0/24 BGP route from four different ISPs. Referring to the exhibit, which ISP\\'s route
would be selected as active? 

A. ISP-B 

B. ISP-A 

C. ISP-C 

D. ISP-D 

Correct Answer: D 

 

QUESTION 5

You are troubleshooting an issue where R1 is no longer receiving the default IS-IS route from R3. Referring to the
exhibit, which action would you take to solve the problem? 

A. Delete the protocols isis ignore-attached-bit configuration statement on R1. 

B. Delete the protocols isis level 2 disable configuration statement on R3. 

C. Delete the protocols isis import configuration statement on R1. 

D. Delete the protocols isis ignore-attached-bit configuration statement on R3. 

Correct Answer: A 
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